DALEN

STORSEKKSTATIV

Type 1522

Reservedeler

9303 01

PRODUSENT

LID JARNINDUSTRI A.S

N-5600 NORHEIMSUND

Telefon: 56 55 11 77 Telefax: 56 55 11 81




ali

v
J




Pos nr. _Art.nr. Navn Antal

1-3 1522-350 Sikringsramme

1 1522-070 Stettelist 4
2 1522-075 Stottebein 4
3 K10-114 Plastplugg 8
S-14  1522-L. Tappestativ, 1agt

5 1522-045 Knivkryss 1
6 1522-002 Brett 1
7 K09-003 Handtakskule 1
8 1522-080 Arm 1
9 F102-08020 Sekskt.skrue M8x20 2
10 F312-08 Lisemutter M8 2
11 F402-08 Underlagsskive 8,4 2
12 K99-015 Hurtigkopling m/las 1
13 K99-014 Skyvespjeld OK-160 1
14 F302-10 Sekskantmutter M10 2
20-26 __ 1522-200 Hag ramme _for tappestativ
20 1522-018 Klammer 8
21 1522-015 Ramme, hog 2
22 1522-060 Tverrstag 1
23 F102-12080 Sekskantskrue M12x80 4
24 F312-12 Lisemutter M12 4
25 F102-10070 Sekskantskrue M10x70 4
26 F312-10 Lasemutter M10 4
30-36 _1522-100 Hijulsett m/reg.bar hogde
30 1522-110 Stamme 4
31 0889 Bolt 212 4
32 K07-018 Trinse 9125, svingbar 2
33 K07-017 Trinse 2125, fast 2
34 F460-03 Fjerpinne 23 4
35 F102-08020 Sekskantskrue M8x20 16
36 F312-08 Lisemutter M8 16



5¢

Pos nr. Art.nr. Navn Antal
40-43  1522-300 Lang tappeslange

40 K99-015 Hurtigkopling med 1as 1
41 F610-15017 Slangeklemme 150-170 4
42 1522-302 Enderayr med flens 2
43 1522-301 Slange o 160 1
4546  1522-320 Spjeld med hurtigkopling
45 K99-015 Hurtigkopling med las 1
46 K99-014 Skyvespjeld OK-160 1
50-51__1522-330 Tau med blokk

50 E08-003 Jemblokk ©50 m/eye 1

51 1522-331 Tau o8mm x 10m 1



